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183.

Proposed by R. Penney, Ford Scientific Laboratory.
If

ro(rlr2 + rorat rarl) =0,

rl(r0r2 tror, - r2r3) =0,
r2(r0r3 trgry - rarl) =0,
r.(rr. +rr, -rr)=0,

3'°0°1 02 1°2
Show that at least one of the quantities rsTsTsT vanishes.
Solution by Stanley Rabinowitz, Polytechnic Institute of Brooklyn.

If none of the r's vanish, then the expressions in the parenthesis must vanish.
These conditions may then be written as

(1) l/rl + l/r2 + l/r3 =0,
(2) l/r, + l/ry = lry ,
(3) l/r3 + l/rl = l/rO y
(4) l/rl + l/r, = l/r0 .

Adding up (2), (3), and (%) and using (1) gives 3/ry = O.which is impossible.
Hence, at least one of the r's must vanish.



